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ZEE (m)

ZEE (m)

ZEE (m)

10
15
20

25 -

30
35
40
45
50
55

10
15
20
25
30
35
40
45
50
55

10
15
20
25
30
35
40
45
50
55

AEARL AER2 B3

K& (C) K& (C) KE (C)
0 5 10 15 20 25 0 5 10 15 20 25 0 5 10 15 20 25
| L ! . ) 0 | L L L ) L L )
] 5 5
] 10 - 10
] 15 - 15
] 20 - 20
B 25 25 1
] 30 30 -
] 35 35 -
1 —6H —8A 40 - 40 -
4 —118 —28 45 45 -
] 50 - 50 -
J 55 J 55 .
HER4 FAERS FER6
K& (C) KE (C) KE (C)
0 5 10 15 20 25 0 5 10 15 20 25 0 5 10 15 20 25
L . L L ) 0 I I I ) 0 y ’ L L )
] 5 5
4 10 - 10 -
] 15 - 15 -
] 20 - 20 -
] 25 25 -
] 30 - 30
] 35 - 35
_ r 40 - 40
4 45 45 -
] 50 - 50
J 55 - 55
#AESA7 FERS FHER9
K& (C) KiE (C) KiE (C)
0 5 10 15 20 25 0 5 10 15 20 25 0 5 10 15 20 25
T 0 e — 0 e
i 5 4 5
] 10 - 10 -
] 15 15 -
i 20 20 |
] 25 25 -
] 30 30 -
i 35 - 35
] 40 - 40
] 45 - 45
] 50 A 50 -
J 55 55 J

-1 SRR 28 4R AFRAMAICIS T DKIEDOIME T v T 7 A L



AR AE=R2 AE=3
KR (C) IR (C) KR (C)
0 5 10 15 20 25 0 5 10 15 20 25 0 5 10 15 20 25
0 P S S 0 P P S
5 5 . i
10 | 10 | 10 |
15 15 | 15 |
20 | 20 | 20 |
E 25 mrm 25 25
i 30 | 30 | 30 |
35 | 117 35 | 35 |
40 - 40 | 40 |
45 | 45 | a5 |
50 | 50 - 50 |
55 | 55 55
WEEET — X WEEET —X WEET — X
fie /N [EON Ty e/ [EoN Ty e/ [EON NE2)
1.12 22.31 10.57 1. 57 22.46 11.43 0.71 22.31 12.96
AE=4 AERS AER6
8 () KB (C) 8 ()
0 5 10 15 20 25 0 5 10 15 20 25 0 5 10 15 20 25
0 P 0 P 0 P
5 5 | 5
10 - 10 4 10
15 | 15 | 15 |
20 20 | 20 -
€ 25 | 25 | 25 |
w 30 - 30 . 30 |
8 35 35 1 35
40 | 40 - 40 |
45 | 45 | 45 |
50 | 50 - 50
55 | 55 55 |
WEET — X WEET — X WAEET — X
s/ [E PN Sy Fie /N jE PN Sy Fie /N jE PN R
1.53 22.11 6.11 1. 36 21.97 8.88 1.46 22.33 9.74
AE=R7 AE=R8 AER9
8 () KB (C) 8 ()
0 5 10 15 20 25 0 5 10 15 20 25 0 5 10 15 20 25
0 P 0 PR M
5 5. )
10 | 10 | 10
15 | 15 | 15 |
20 20 | 20 -
E 251 25 | 25
i 30 30 | 30 -
8 35 | 35 | 35 |
40 40 | 40
45 | 45 | l 45
50 - 50 | 50 -
55 J 55 J 55
WEEET — X WEEET — 4 WEET — X
s/ i K Sy Fie /N K Sy Fie /N K S
1.46 21.74 8.98 1. 46 22.13 9.39 1.42 22.36 9.55
-2 PRk 29 HEERKEE A AHSICB T A KIBEOSRE T e 7 7 A L




FEE (m)

FEE (m)

#EE (M)

10
15
20

25 |

30
35
40
45
50
55

0

5
10
15
20
25
30
35
40
45
50
55

10
15
20
25
30
35
40
45
50
55

AE=L FAER2 FAESR3
189 B9 B9
28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35
0 P — , 0 S —
: 5 5
: 10 10
] 15 15
] 20 20
SBIEE 25 -
] 30 30
] 35 35
1 68 —8A 40 40
] 118 28 45 45
] 50 50
J 55 55
o=t BEiSi=t) BEEN=1)
129> 1553 1553
28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35
, 10 10 -
. 15 15 -
_ 20 20 -
_ 25 25
_ 30 30 -
_ 35 35
1 40 40 -
. 45 45 -
_ 50 50 -
] 55 55 |
AESRT7 A8 A9
189 B9 B9
28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35
1 1 1 1 1 ) 0 " " " " " " ) 0 1 1 1 1 1 )
. 5 5
: 10 10
1 15 15
1 20 20
1 25 25
1 30 30
. 35 35
] 40 40 |
J 45 45
: 50 50
. 55 55
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AE=L AE=R2 AE=3
89 185 185
28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35
0 1 1 1 1 1 1 J 0 1 1 1 1 1 1 J 1 1 1 1 I 1 J
5. 5 | 1
10 10 | 10 4
15 15 | 15 |
20 20 | 20 |
£ 25 | BEE 25 25
30 - 30 - 30
8 35 ] 118 35 | 35 |
40 - 40 | 40 |
45 | 45 | 45 |
50 | 50 | 50
55 55 | 55
WEEET — X WEEET —X WEET — X
fie /N [EON Ty e/ [EoN Ty e/ [EON NE2)
31.37 33.90 33.01 31.08 33.77 33.37 30. 69 33.75 32.75
AE=4 AE=S AE=6
=) &5 &9
28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35
0 4—v v v 04— v v P
5] 5 | ]
10 | 10 4 10 |
15 | 15 4 15 |
20 | 20 | 20 |
E 25 | 25 | 25 |
& 30 | 30 | 30 |
& 35 | 35 35 |
40 | 40 | 40 |
45 | 45 | 45 |
50 | 50 - 50 |
55 55 | 55 |
WEET — X WEET — X WAEET — X
s/ [E PN Sy Fie /N jE PN Sy Fie /N jE PN R
31.21 33.90 33.07 31.13 33.98 33.12 29.76 33.85 33.06
a7 BEme BERO
i85 155y 155y
28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35 28 29 30 31 32 33 34 35
0 4—v v vy ey o
54 4 4
10 4 10 10
15 | 15 4 15 |
201 20 | 20 |
E 25| 25 25 |
30 | 30 30 |
5 35 | 35 35
40 | 40 | 40
45 | 45 | 45 |
50 | 50 - 50 |
55 | 55 J 55
WEEET — X WEEET — 4 WEET — X
s/ i K Sy Fie /N K Sy Fie /N K S
31.65 34.07 33.02 31. 47 34.03 33.19 31.72 33.98 33.18
X-4 PRk 29 HFEKTE SEHSICB T 2 ORmET e 7 7 A L




ZEE (m)

FE (m)

FE (m)

EEisv=ul
ot (kg/m3)

19 20 21 22 23 24 25 26 27
0 oy

FBIERH

—6H —8H
—118 —2H

ot (kg/m3)
19 20 21 22 23 24 25 26 27

0

5.
10 -
15
20 -

25

30
35
40 -
45
50 -
55

ot (kg/m3)
19 20 21 22 23 24 25 26 27

5
ot (kg/m3)
19 20 21 22 23 24 25 26 27

5 5

10 10 -

15 15 -

20 20

25 25

30 30 -

35 - 35 -

40 - 40 -

45 45 |

50 50 -

55 55 .

HAER7 BEri=t]

ot (kg/m3) ot (kg/m3)
19 20 21 22 23 24 25 26 27 19 20 21 22 23 24 25 26 27

0 L ) 0 I T S S S
54 54

10 - 10 -

15 - 15 -

20 - 20

25 - 25 |

30 - 30 -

35 35 |

40 | 40 -

45 | 45 |

50 - ‘. 50 -

55 55

ot (kg/m3)

19 20 21 22 23 24 25 26 27
0 P R S S S T
5.
10 -
15
20 -
25
30 -
35 4
40 -
45 4
50
55

ot (kg/m3)
19 20 21 22 23 24 25 26 27

10 -
15 -
20 |
25 |
30 -
35 |
40 |
45 |
50 -

BEi=C]
ot (kg/m3)
19 20 21 22 23 24 25 26 27

10 |
15 |
20 |
25 |
30 |
35 |
40
45 |
50 |
55
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AESL AE=2 AAER3
ot (kg/m3) ot (kg/m3) ot (kg/m3)
19 20 21 22 23 24 25 26 27 19 20 21 22 23 24 25 26 27 19 20 21 22 23 24 25 26 27
0 4—vr v v vy ) 04— 1 1 v ) 0 v v
5 4 5 5 4
10 10 10
15 15 15
s 20 4 20 20 -
E 25 mrm 25 25 4
# 30 30 30 4
% 35 —115 35 35 1
40 40 40 -
45 45 45 -
50 4 50 50 4
55 55 55 J
WEET — WEET — 5 AR T — &
e/ fEoN T fEON o ON T fEON ek FH
21.97 26. 66 25. 12 21. 98 26. 59 25. 34 21. 49 26. 54 24, 49
AE=4 AE=S AER6
ot (kg/m3) ot (kg/m3) ot (kg/m3)
19 20 21 22 23 24 25 26 27 19 20 21 22 23 24 25 26 27 19 20 21 22 23 24 25 26 27
0 T ) 0 TR S E B S— ) 0 TR TR Y S M )
5 4 5 4 4
10 10 4 10 4
15 15 4 15 4
20 4 20 4 20 4
E 25 25 25 |
o 30 30 | 30 |
8k 35 35 4 35 4
40 | 40 - 40 |
45 - 45 4 45 |
50 50 - 50
55 - 55 55 J
W EERET — & R T — & AR T — &
I/ K ) e/ PN ) e/ K B
22. 15 26. 52 25. 87 21. 89 26. 59 25. 41 21.85 26.51 25. 29
AE=R7 B T=t] AER9
ot (kg/m3) ot (kg/m3) ot (kg/m3)
19 20 21 22 23 24 25 26 27 19 20 21 22 23 24 25 26 27 19 20 21 22 23 24 25 26 27
L ) 0 Ly ) 0 P S R
5 4 54 5
10 10 10
15 15 15
20 20 - 20 |
E 25 25 25 |
30 - 30 30 4
% 35 | 35 | 35 |
40 - 40 - 40
45 - 45 4 45 |
50 4 50 4 50 4
55 4 55 4 55 J
BEET— 7 BEET— 7 BEET %
e PN R e/ e K R e/ e K B
22. 63 26. 57 25. 43 21. 88 26. 50 25. 44 22,47 26. 52 25. 40
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TA (umol/kg)
2000 2100 2200 2300 2400

10 -+
15 |
20
25 1 mEE
30
35
40 -
45
50
55 J

EE (m)

@6H @38H
O11F @24

TA (umol/kg)
2000 2100 2200 2300 2400

EE (m)

TA (umol/kg)

2000 2100 2200 2300 2400
0
5
10
15
20
25
30
35
40
45
50
55

EE (m)

X-7 Rk 28 FEE A FHAMSICBIT ATV ) E (TA)

FES2
TA (umol/kg)

2000 2100 2200 2300 2400

0
5
10
15
20
25
30
35
40
45
50
55

TA (umol/kg)
2000 2100 2200 2300 2400

TA (umol/kg)
2000 2100 2200 2300 2400

0

5
10
15
20
25
30
35
40
45
50
55

10
15
20 -
25 -
30 -
35
40 -
45

10
15
20
25
30
35
40
45
50
55

FES3
TA (umol/kg)

2000 2100 2200 2300 2400

ER6
TA (umol/kg)
2000 2100 2200 2300 2400

B=9
TA (umol/kg)

2000 2100 2200 2300 2400

DOEE T 7 7 AL



AERL

TA (umol/kg)

2000 2100 2200 2300 2400

TA (pmol/kg)

2000 2100 2200 2300 2400

a3

TA (pmol/kg)

2000 2100 2200 2300 2400

0 - 1 0
5 4 5
10 10 10
15 15 15
E 20 4 20 4 20
w 2| mEm 25 2
% 30 | 30 | 30 -
T35 @118 35 | 35
40 | 40 | 40
45 | 45 | 45 |
50 - 50 - 50 -
55 55 55 J
WEET — WEET — 5 WEET — 5
i/ K ¥ i/ K ¥ SN K )
2067 2263 2224 2031 2262 2227 2061 2257 2223
AE=4 AERS AE=6
TA (umol/kg) TA (umol/kg) TA (umol/kg)
2000 2100 2200 2300 2400 2000 2100 2200 2300 2400 2000 2100 2200 2300 2400
L L L ) 0 L L L ) 0 L L L )
J 5 5 |
10 10 10
15 4 15 15
~ 20 - 20 4 20 4
E 5 | 25 25
w30 | 30 30
T3 35 35 |
40 40 | 40
45 | 45 | 45 |
50 50 50
55 ./ 55 J 55 J
WEET — 5 WEET — 5 WEET —
IS0 K ) IS0 K ) IS0 K )
2018 2260 2232 2015 2259 2229 2059 2257 2225
AER7 BEl=i=t] AESR9
TA (umol/kg) TA (umol/kg) TA (umol/kg)
2000 2100 2200 2300 2400 2000 2100 2200 2300 2400 2000 2100 2200 2300 2400
0 L L L ) 0 L L L ) 0 L L L )
s ] p ] p 5 |
10 10 10 4
15 15 15 4
E 20 4 20 20
~ 25 4 25 4 25
1%“ 30 | 30 - 30 -
35 4 35 4 35
40 40 i 40 -
45 4 45 | 45
50 | | 50 - 50
55 J 55 J 55
BEET — ¥ BEET — ¥ BEET — ¥
i/ &R -y i/ &R - i/ &R -
2066 2260 2235 2041 2263 2233 2052 2259 2233
-8 Tk 20 FHHE AWEMAUCEBI ST D U E (TA) ORET 17 7 1L




FEE (m)

FEE (m)

—~

-

i
B

0 +
5 4
10 -
15 -
20 -
s
30
35
40 |
45
50 -

w

Bal
DIC (umol/kg)

1800 1900 2000 2100 2200

0 -
5 .
10 -
15 -
20

25

JBIEE

30
35
40

®6H @38H
45 -
50 011F @24
55

AER4

DIC (umol/kg)
1800 1900 2000 2100 2200

0 . )
5
10
15
20
25
30
35
40

45 |
50 -
55

DIC (umol/kg)
1800 1900 2000 2100 2200

55 4

AER2
DIC (pumol/kg)

1800 1900 2000 2100 2200
0
5 .
10
15
20 4
25 -
30 -
35 -
40
45
50 -
55

DIC (pumol/kg)
1800 1900 2000 2100 2200

O 1 W )
DIC (umol/kg)
1800 1900 2000 2100 2200

0

5
10
15
20
25
30
35
40
45

50
55

0
5

10 -
15 |
20
25
30
35
40 |
45 |
50 -
55

10
15
20
25
30
35
40
45
50
55

5
10 -

25
30 -
35
40
45 |
50 -

AER3
DIC (umol/kg)

1800 1900 2000 2100 2200

DIC (umol/kg)
1800 1900 2000 2100 2200

DIC (umol/kg)
1800 1900 2000 2100 2200

-9 Pk 28 4EE A FHAH ISR DKl (DIC) REDMET 17 7 A )L



AERL

DIC (pmol/kg)
1800 1900 2000 2100 2200

DIC (pmol/kg)
1800 1900 2000 2100 2200

DIC (pmol/kg)
1800 1900 2000 2100 2200

4 0 0 . . . )
4 5 5 4
10 4 10 10
15 4 15 15
. 20 - 20 20
R 25 25 1
g 30 30 30 -
I 3502 . 35 |
40 4 40 40 |
45 45 45 |
50 - 50 50 4
55 55 55 -
WEET — WEET — 5 WEET — 5
i/ K ¥ i/ K ¥ SN K )
1863 2118 2030 1824 2121 2030 1854 2118 2026
ABER4 AERS FABER6
DIC (pmol/kg) DIC (pmol/kg) DIC (pmol/kg)
1800 1900 2000 2100 2200 1800 1900 2000 2100 2200 1800 1900 2000 2100 2200
L . . ) 0 . . . ) 0 4
5 5 4
10 10 10
15 15 15
~ 20 20 20
g 25 25 25
w30 30 30 |
T35 35 35 ]
40 40 40
45 45 45 4
50 50 50 -
55 55 55
WEET — 5 WEET — 5 WEET—F
IS0 K ) IS0 K ) IS0 K )
1817 2142 2040 1815 2132 2035 1855 2115 2033
AB=7 AES8 AER9
DIC (umol/kg) DIC (pmol/kg) DIC (umol/kg)
1800 1900 2000 2100 2200 1800 1900 2000 2100 2200 1800 1900 2000 2100 2200
0 . = ) 0 . . . . 0 . . . ‘
5 | * 5 | 5 |
10 10 4 10
15 15 4 15
fg 20 - 20 20 -
& 25 25 25
B 30 - 30 30 4
35 - 35 35
40 40 - 40
45 | 45 | 45 |
50 - 50 - 50 -
55 4 55 55
B T — ¥ B T — ¥ B T — ¥
i/ &R -y i/ &R - i/ &R -
1852 2150 2046 1836 2144 2042 1847 2123 2039
X-10 PRk 29 FEK T FIAH R BT 52 2KEE (DIC) REDSHE 17 7 A L
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EE (m)

EE (m)

EE (m)

AEAL
pH

78 79 80 8.1 8.2
0 — 0
5 - 5
10 - 10
15 . 15
20 - 20
ig R zg
35 | 35
40 4 o065 @3H 40
1 e11F @28 45
50 50
55 55

BESR4

pH

77 78 79 80 81 82

1 0

. 5
10 - 10
15 - 15
20 20
25 | 25
30 30
35 - 35
40 40
45 - 45
50 - 50
55 55

BEA7

pH

7.7 78 79 80 81 82

10 - 10
15 15
20 - 20
25 | 25
30 - 30
35 35
40 - 40
45 | 45
50 - 50
55 55
X[-11

8.2

Eiii=v
pH
78 79 80 81
pH

77 78 79 80 81 82

10
15
20
25
30
35
40
45
50
55

0

5
10
15
20
25
30
35
40
45
50
55

FES3
pH

78 79 80 81 82
pH

78 79 80 81 82

77 78 79 8.0 8.1 82

ok 28 AEE A AT S pH OSE T 7 7 A L
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AE=L AE=R2 AE=3
pH pH pH
78 79 80 81 82 78 79 80 81 82 78 79 80 81 82
4 0 0 4
4 5 5 4
10 - 10 | 10 |
15 15 15 |
~ 20 4 20 4 20
o L | o o |
3 o117 i |
35 35 35 |
40 - 40 | 40 |
45 4 a5 | 45 |
50 4 50 - 50 |
55 55 | 55 )
WEEET — 4 WEEET — X WEEET — X
B Bx 23 B Bx 23 B Bx 2D
7.82 8.16 - 7.82 8.16 - 7.86 8.18 -
pH pH pH
7.7 78 79 80 81 82 77 78 79 80 81 82 78 79 80 81 82
0 -4 0 0 . . . )
5 | 5 5
10 | 10 10 |
15 | 15 | 15 |
~ 20 20 - 20
E 55 | 25 25
£ 30 | 30 | 30 -
" 35 35 35 |
40 - 40 | 40 |
45 | 45 | 45 |
50 | 50 50 -
55 | 55 55 |
HEET —4 HEET —4 HEET —4
/) K S /) K S /) K S
7.75 8.17 - 7.77 8.19 - 7.84 8. 20 -
AE=7 AE=8 AESR9
pH pH pH
7.7 78 79 80 81 82 77 78 79 80 81 82 77 78 79 80 81 82
0 . g 0 M 0 . M
] 5 | 5
10 10 | 10 -
15 15 | 15 |
B 20 | 20 | 20 |
w 5 25 | 25 |
® 30 - 30 | 30
35 - 35 | 35 |
40 | 40 | 40 -
45 | 45 | 45 |
50 - 50 | 50 |
55 | 55 | 55
WA T — X W T — X W T — X
i/ [N S i/ jToN Y i/ jTON Y
7.76 8.16 - 7.78 8.17 - 7.80 8.17 -

X-12 SERE 29 EERKE 4%

12
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HE (m)

HE (m)

EE (m)

X|-13

AESL AER2 B3

pCO, (patm) pCO, (patm) pCO, (patm)
150 250 350 450 550 150 250 350 450 550 150 250 350 450 550
0 - 0 - 0 L . )
5 4 5 4 5 4
10 10 - 10 -
15 15 - 15 4
20 20 20 4
25 1o 25 25 4
30 ®55 @3AH 30 30
35 1 e1iF @28 35 35 1
40 40 40
45 | 45 | 45
50 50 - 50
55 4 55 . 55 .
BSR4 AERS FAER6
pCO, (patm) pCO, (patm) pCO, (patm)
150 250 350 450 550 150 250 350 450 550 150 250 350 450 550
0 - 0 " . ) 0 . . ,
5 - 5 5 -
10 - 10 10
15 - 15 15 -
20 - 20 20 -
25 4 25 25 4
30 4 30 30 4
35 35 35
40 40 40
45 | 45 45
50 - 50 50 -
55 4 55 55 4
AER7 B8 HAER9
pCO;, (patm) pCO, (patm) pCO;, (patm)
150 250 350 450 550 150 250 350 450 550 150 250 350 450 550
0 . P— 0 " P— 0 . P
5 - 5 - 5 -
10 - 10 - 10 -
15 15 15 -
20 - 20 - 20
25 4 25 25
30 - 30 - 30 -
35 35 35 -
40 40 - 40
45 45 45 |
50 50 - 50 -
55 55 55

YRk 28 £EJE A RHAM NI D TRLIRFESE (pCO2) DIMET 17 7 A )b
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X|-14

AERL

pCO, (patm)
150 250 350 450 550

2
pCO, (patm)

150 250 350 450 550

pCO, (uatm)
150 250 350 450 550

. . . ) 0 . . . ) 0 . . . )
] 5 5
10 - 10 10 -
15 15 | 15
20 4 20 20
E s [ em 25 25 4
30 A 30 30
- 35 35
40 4 40 40
45 4 45 | 45 |
50 50 50
55 55 55 |
WEEET — 4 WEEET — X BEET — 4
B/l BA F22) B/l BA F22) B/l BA F22)
235 451 349 197 446 342 207 462 338
AER4 FERS AER6
pCO;, (patm) pCO, (patm) pCO;, (patm)
150 250 350 450 550 150 250 350 450 550 150 250 350 450 550
0 . . . ) 0 . . . ) 0 . . . )
5 4 5 5
10 | 10 | 10 -
15 | 15 | 15
~ 20 | 20 | 20 |
é 25 4 25 4 25
W o30 . 30 | 30 |
BT 35 | 35 |
40 | 40 | 40 |
45 | 45 | 45 |
50 50 | 50 |
55 55 ) 55
HEET —4 HEET —4 HEET —4
/) K S /) K S /) K S
223 493 351 217 454 346 216 444 349
Biiev=vs AE=8 Baiev=te]
pCO, (patm) pCO, (patm) pCO, (patm)
150 250 350 450 550 150 250 350 450 550 150 250 350 450 550
0 . . . ) 0 . . . ) 0 . . . ‘
5 5 5
10 - 10 4 10
15 15 15 |
~ 20 | 20 20 |
E x| 25 | 25 |
2 30 | 30 | 30 |
T o35 35 | 35 |
40 - 40 | 40
45 | 45 | 45 |
50 50 | 50
55 55 J 55
WA T — X W T — X W T — X
i/ [N S i/ K S i/ [N S
217 488 358 223 483 354 208 452 350
Rk 29 FERKT SRAHSICBIT S ZBbRFESE (pCO2) DFRE T a7 7 A L
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DO (%) DO (%) DO (%)
70 90 110 130 70 90 110 130 70 90 110 130
5 4 i 5 |
10 10 - 10 -
15 15 15 4
.20 20 - 20 -
E 25 ] 25 25 -
w30 | IEE 30 30
8K 35 | 35 | 35 -
40 1 ecA esA 40 - 40 4
45 @115 @28 45 - 45 1
50 - 50 50 -
55 55 55
BSR4 FAERS RErE=)
DO (%) DO (%) DO (%)
70 90 110 130 70 90 110 130 70 90 110 130
0 . ) 0 0 ) ) )
5 5 5
10 - 10 - 10
15 15 15 -
20 | 20 - 20
E 25 | 25 | 25
g&( 30 30 - 30
35 35 35
40 40 40 |
45 | 45 | 45 |
50 - 50 - 50 -
55 55 55
AER7 FAE=8 FAER9
DO (%) DO (%) DO (%)
70 90 110 130 70 90 110 130 70 90 110 130
i 5 . 5
10 - 10 - 10 -
15 15 - 15 -
20 - 20 20
E 25 - 25 25
m 30 - 30 - 30 -
8 o35 | 35 - 35 |
40 40 40
45 45 45 |
50 50 - 50 -
55 - 55 55

2-15 Rk 28 4R A A AIC T 2R (DO) fafMEORE 7 1~ 7 A )b
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X|-16

WEL a2 BEA3
DO (%) DO (%) DO (%)
70 90 110 130 70 9 110 130 70 9 110 130
0 . . , ) . ) 0 . . ‘
5 4 1 5
10 10 | 10 |
15 | 15 | 15
. 20 4 20 | 20
E 5] N— 25 25 |
@ 30 - olin 30 | 30 -
35 | 35 35 |
40 | 40 | 40 |
45 | 45 | 45 |
50 - 50 50
55 | 55 | 55 |
WEEET — 4 WEEET — X WEEET — X
/) K S /) K S /) K S
81 114 95 81 112 96 82 114 97
AE=R4 AE=S AER6
DO (%) DO (%) DO (%)
70 90 110 130 70 90 110 130 70 90 110 130
. . ) . . ) 0 . . )
4 5 4
10 10 | 10 |
15 15 | 15 |
~ 20 20 | 20 |
E 25 | 25 |
W 30 30 30 |
T3 35 35 |
40 40 40 |
45 45 | 45 |
50 50 50 |
55 55 | 55 |
WEEET — X WEEET — X WEEET — X
/) K S /) K S /) K S
78 111 95 80 112 95 82 115 96
AE=R7 AE=S AE=9
DO (%) DO (%) DO (%)
70 9 110 130 70 9 110 130 70 9 110 130
. . ) 0 . ) 0 . .
] 5 5 |
10 10 - 10 |
15 15 | 15 |
. 20 | 20 - 20 |
E 5 | 25 | 25 |
g 30 30 - 30 |
35 | 35 | 35 |
40 | 40 | 40
45 | 45 | 45 |
50 | 50 | 50 |
55 J 55 J 55 J
AT — T — AT —
i/ [N S i/ K Y i/ jTON Y
78 122 94 78 110 95 82 110 95
Wk 29 FEERTE SIRAHAICBIT eSS (DO) fafifEoshE 7 n 7 7 A L
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chl-a (pg/L) chl-a (pg/L) chl-a (pg/L)
0 2 4 6 8 10 0 2 4 6 8 10 0 2 4 6 8 10
0 0 0 -
5 5 5 -
10 10 - 10
= 15 15 15
E 20 20 20 -
8 25 | wxm 25 25 .
30 30 - 30 -
35 @55 @87 35 | 35 |
0115 @283
40 40 40 -
45 45 45 -
50 50 50 -
55 55 J 55
HER4 AR5 ARG
chl-a (pg/L) chl-a (pg/L) chl-a (pg/L)
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£2 UANTA (ByxH) OLEREBEROFHERE

P L IR
) - ] vemmm RO
wr | B | e mgﬁﬁﬁ> mgii% ﬁgﬁﬁ%* (AER) | EEEROK
(a/1E11) e
% 1= H 541 176. 8 171.6 £23.4 85.1 £13.2 0.67 £0.04
2\l H 584 189.6 166.3 £23.4 83.7 £11.4 0.67 £0.03
= 1= H 315 109. 4 177.4 £27.4 77.9 =9.9 0.69 £0.03
198 2\l H 321 108. 2 169.0 £25.9 75.1 =10.3 0.69 £0.03
’ 1= H 534 183. 8 178.8 £25.4 76.5 =9.5 0.70 £0.03
® 2\l H 1,034 367.6 183.5 £25.0 78.4 =10.0 0.70 £0.03
% 1= H 563 190.0 175.7 £24.0 77.0 =9.3 0.69 £0.03
2\l H 1,020 343. 3 173.9 £24.8 74.4 +=10.2 0.70 £0.03
% 1= H 375 118.8 163.6 £22.0 89.3 =£12.6 0.65 £0.03
2\l H 613 194. 5 163.2 £24.2 92.5 =£12.6 0.64 *=0.04
= 1= H 269 92.8 171.8 £27.5 84.3 £11.0 0.67 £0.03
129 2\l H 431 159.1 178.0 £24.0 87.9 £11.2 0.67 £0.03
’ 1= H 387 128.1 170.5 £21.6 75.4 =10.4 0.69 £0.02
® 2\l H 427 142. 6 173.3 £24.6 75.4 =7.9 0.70 £0.03
P ECEE
oWl H
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#*-3 KERMESHRER &
o w | - CO,BAEIER —BEH| EE
maes | mam |PORE| KR BRE O T cmm | TE | o DO |7anyqh-a| pCO;

m m m °C L mol/kg| ¢ mol/kg pumol/kg| wpg/L M atm

RE 0.5 8.85 33.36 2,086 2,240 7.88 269 1.0 414

1 LB 51 o 91 8.93| 3346 | 2082| 2237 7.89 266 1.0 415
TE 16 : 930 3372| 2090]| 2,251 7.90 256 1.1 413

EE 19 930 3372| 2089 2258 7.90 256 1.1 394

EdE] 0.5 914 | 3356 | 2081 2,246 7.92 266 1.2 396

) B 5] o5 30 915 3357| 2083 2251 7.92 264 1.2 391
TE 19 : 939 | 3372| 2085| 2252 7.91 257 1.3 400

EE 22 940 3372| 2088 2255 7.92 257 1.3 400

=B 0.5 890 | 3332| 2073 2238 7.91 268 1.0 388

3 B 50 40 17 906 | 3330 | 2074 2240 7.91 268 0.9 388
TE 14 : 950 | 3362| 2085| 2248 7.92 258 1.0 407

EE 17 955 | 33.66| 2087 2,251 7.92 257 1.3 408

=E 0.5 868 | 3341 2079 | 2246 7.92 273 1.0 380

4 LB 51 45 26 870 | 3340 2082 2242 7.92 271 1.0 397
TE 37 : 899 | 3372| 2114 2257 7.87 234 0.7 459

EE 40 8.85 | 33.71 2,116 | 2,256 7.88 232 0.7 468

=E 0.5 9.11 33.62 | 2079 2253 7.93 265 12 376

5 B 5| 49 37 916 | 3363| 2079 2253 7.93 264 1.2 377
TE 32 : 959 | 33.74| 2081 2,258 7.93 256 1.4 380

EE 35 958 | 3374| 2082 2256 7.93 256 15 387

E3E] 0.5 9.36 |  33.51 2,077 | 2,246 7.93 270 1.1 390

6 B 5] 4 30 938 | 3351 2079 | 2244 7.93 269 1.1 400
TE 26 : 952 | 3372| 2086 2255 7.93 256 1.7 398

EE 29 945 | 3372 | 2085| 2254 7.89 255 1.9 393

®E 0.5 1094 | 3388| 2069 2258 7.95 256 0.5 376

; LB 5| o 13.0 10.94 | 33.89 | 2,066 | 2259 7.96 253 0.5 366
TE 47 : 9.71 33891 2102 2259 7.92 232 0.8 434

EE 50 9.71 33.89 | 2105 2261 7.90 232 0.3 439

=®E 0.5 1053 | 3386 | 2073]| 2,257 7.94 254 0.6 381

8 LB 51 46 123 10.54 | 33.86 | 2,069 | 2259 7.96 253 0.6 366
TE 40 i 10.24 | 33.85| 2,085| 2257 7.94 244 0.4 404

EE 43 997 3386| 2095 2260 7.92 240 0.3 418

E3E] 0.5 907 | 33.63| 2084]| 2250 7.92 262 0.8 394

0 LB 51 4 43 907 | 3363| 2086 2249 7.92 262 0.9 401
TE 35 : 908 | 3368 | 2095| 2254 7.91 251 0.9 416

e 38 908 | 33.68| 2095| 2253 7.91 251 0.9 416
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#*-4

JERE A MR R — T

pH pH R (52 TDH)
mams | KR iR GB%) |Jasoz11 | BKE | HEHE | WEHE | 22X | Hikh 2 [ i
2T 2mmPlE  0.075-2mm  0.075mm3kiE
m °c % mg/g-dry | mg/g-dry | mg/g-dry | mg/g-dry %

1-1 8.8 8.24 7.8 23.6 0.8 <0.1 0.12 <0.1 121 85.4 25
1-2 8.7 8.08 7.9 25.8 0.8 <0.1 0.12 <0.1 10.3 87.1 2.6
1-3 2 8.6 8.10 8.0 23.8 0.7 <0.1 0.10 <0.1 10.5 87.5 2.0
1-4 8.7 7.99 8.2 26.9 0.7 <0.1 0.12 <0.1 11.2 86.6 2.2
2 25 8.8 7.35 8.6 25.3 4.2 0.2 0.44 <0.1 0.0 66.7 33.3

3 19 7.8 7.28 8.5 26.0 6.1 0.2 0.66 0.2 1.9 442 53.9

4 42 10.2 7.44 8.7 24.2 4.0 0.1 0.49 <0.1 0.0 83.7 16.3

5 38 6.5 7.60 8.6 37.3 12.2 0.1 1.41 0.2 0.0 58.8 41.2

6 32 8.3 7.29 8.6 23.7 5.4 0.2 0.55 0.2 0.0 79.6 20.4

7 53 6.6 7.33 8.7 25.7 5.4 0.2 0.65 0.1 1.7 74.8 23.5

8 46 7.0 7.38 8.7 23.9 3.6 0.1 0.44 <0.1 1.1 80.8 18.1

9 41 7.5 7.60 8.7 19.0 1.0 <0.1 0.13 <0.1 1.2 94.4 4.4
A-1 8.6 7.62 8.2 246 1.3 <0.1 0.20 <0.1 0.0 88.1 11.9
A-2 85 7.72 7.8 23.5 1.3 <0.1 0.22 <0.1 0.0 82.6 17.4
A-3 12 8.7 7.69 7.2 248 1.3 <0.1 0.23 <0.1 0.0 88.6 11.4
A-4 8.7 7.61 7.9 25.3 1.4 <0.1 0.23 <0.1 0.0 89.3 10.7
B-1 11.0 7.85 8.6 21.8 1.3 0.1 0.18 <0.1 23 80.6 171
B-2 10.8 7.83 8.7 23.6 1.7 0.1 0.23 <0.1 20 80.1 17.9
B-3 2 10.8 7.83 8.5 21.6 1.7 <0.1 0.24 <0.1 23 79.6 18.1
B-4 10.8 7.58 8.5 23.2 1.9 <0.1 0.25 <0.1 2.8 71.5 25.7
C-1 10.5 7.35 8.7 31.0 9.5 0.2 1.06 0.2 1.5 49.4 49.1
C-2 10.6 7.37 8.6 29.5 7.9 0.2 0.85 0.2 1.2 55.9 42.9
Cc-3 ¥ 10.4 7.30 8.2 34.9 8.9 0.2 0.96 03 0.9 53.9 45.2
C-4 10.5 7.37 8.5 31.7 8.2 0.1 0.90 0.2 1.9 49.4 48.7
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